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Grade Boundaries

What is a grade boundary?

A grade boundary is where we set the level of achievement required to obtain a
certain grade for the externally assessed unit. We set grade boundaries for each
grade (Distinction, Merit, Pass and Near Pass). The grade awarded for each unit
contributes proportionately to the overall qualification grade and each unit
should always be viewed in the context of its impact on the whole qualification.

Setting grade boundaries

When we set grade boundaries, we look at the performance of every learner
who took the assessment. When we can see the full picture of performance, our
experts are then able to decide where best to place the grade boundaries - this
means that they decide what the lowest possible mark should be for a particular
grade.

When our experts set the grade boundaries, they make sure that learners
receive grades which reflect their ability. Awarding grade boundaries is
conducted to ensure learners achieve the grade they deserve to achieve,
irrespective of variation in the external assessment.

Variations in external assessments

Each test we set asks different questions and may assess different parts of the
unit content outlined in the specification. It would be unfair to learners if we set
the same grade boundaries for each test, because then it would not take into
account that a test might be slightly easier or more difficult than any other.

Grade boundaries for this, and all other papers, are on the website via this link:
qualifications.pearson.com/gradeboundaries

Unit 1: Human Lifespan Development (31490H)

Grade Unclassified| Near Pass Pass Merit Distinction
Boundary 0-15 16 30 44 58
Mark




Introduction

The 2018 January examination was the second in the series, and the first to
utilise a simplified three question format, with each question receiving equal
weighting of 30 marks. This format will also be present in the Summer 2018
examination.

The overall rate of Pass, Merit and Distinction grades awarded for this paper
were very similar to those recorded for the previous paper.

The major guidance criteria for establishing the criteria for the awarding of
grades for this examination series were:

For a Level 3 Pass, learners were able to explore familiar applications of
physical, intellectual, emotional and social development across the human
lifespan, factors affecting human growth and development and the effects of
ageing.

Learners related given situations to human development, theories/models and
other factors affecting human growth and development. They selected and
organised information using appropriate knowledge and concepts about
theories/models in relation to human development, factors affecting human
growth and development and the effects of ageing.

The responses for the learners deemed as meeting the Pass criteria were in line
with these requirements.

However, for a Level 3 Distinction, learners were able to articulate arguments
and views concisely and professionally to justify and evaluate physical,
intellectual, emotional and social development across the human lifespan,
factors affecting human growth and development and effects of ageing.

They were able to use detailed analysis and research to make recommendations
related to human development theories/models and factors affecting human
growth and development. They can draw on knowledge and understanding of
theories/models in relation to human development, factors affecting human
growth and development and effects of ageing.

Again, the responses for the learners deemed as meeting the Distinction criteria
were in line with these requirements.

Those learners awarded a Level 3 Merit did not provide the depth, detail or
accuracy of the Distinction learners with regard to the required discussion,
assessment or evaluation of the questions posed.



Introduction to the Overall Performance of the Unit

All questions were attempted by the majority of learners, indicating that learners had
covered the content of the course. The new format also appeared to ease issues with
timing as the vast majority of learners attempted all the questions in the paper.

However, for those learners who did not complete questions, possibly due to timing
issues, it is important to note that the question stem does not need to be repeated and
repetition of information present in the question stem will not gain any marks.
Moreover, doing so occupies time that learners who do not complete the paper may
utilise more to their advantage. Consequently, tutors may wish to discourage this
practise when the learners are revising using past exam papers.

There were several areas where learners may also be further guided to improve their
performance.

There were also instances of learners not correctly interpreting the questions
thoroughly and produced inappropriate responses eg Learners did not include the age
range as requested (Q1b).

Learners focussed on social factors or intellectual factors without linking these to self -
concept which was explicitly requested (Q1e).

Learners had a reasonable attempt at question 1(f), but frequently, primarily focussed
on the impact of inadequate bonding in the early stages of development and did not
extend this evaluation to the impact on emotional and social development in
adolescence or adulthood, thereby limiting the marks awarded.

In question 2(c) learners frequently focused on genetic conditions such as Downs
Syndrome rather than genetic diseases for example Cystic Fibrosis that were asked for in
the question.

Question 2(d) was recurrently misconstrued by learners who, with the exception of the
strongest learners, did not explicitly tackle this question in relation to the nature versus
nurture debate and these responses primarily produced one-sided answers solely
focussed on genetic factors. It may be worthwhile revisiting the need to produce a
balanced answer in relation to the To what extent’ question stem. An increased
awareness of the command verb may aid the construction of an appropriate response.

Whilst, as expected at Level 3, the paper included a strong emphasis on the theoretical
background included in the specification, this was tackled reasonably well, with most
learners displaying some understanding of the relevant theories.



In question 2(e) most learners drew correct links to disengagement and activity theory
in their responses, although many learners failed to explore these theories in the depth
required to access the highest marks.

This trait was also evident in question 3(c), where many learners correctly identified
elements of Chomsky's theory (e.g. Language Acquisition Device) but failed to develop
their evaluation of this theory or to evaluate other factors (e.g. Social environment,) that
may also impact this process.

The 10 mark questions in this paper were marked using a levelled system that allocated
learners responses a level dependent on the accuracy and depth of the answer. The
responses were then placed at an appropriate mark within the level.

The indicators for each level are as follows:

Level 1 (0-3 marks): Demonstrates isolated knowledge and understanding of relevant
information; there may be major gaps or omissions; Provides little evidence of
application and links between relevant information. Evaluation likely to consist of basic
description of information; Conclusions may be presented; are be likely to generic
assertions rather than supported by evidence; Meaning may be conveyed but in a non-
specialist way

Level 2 (4-6 marks):Demonstrates accurate knowledge and understanding of relevant
information with a few omissions; Evidence of application demonstrating some linkages
and interrelationships between factors leading to a judgement/judgements being made;
Evaluation is presented leading to conclusions but some may be lacking support;
Demonstrates the use of logical reasoning, clarity, and appropriate specialist technical
language.

Level 3 (7-10 marks): Demonstrates accurate knowledge and understanding of relevant
information with a few minor omissions; Evidence of application demonstrating linkages
and interrelationships between factors leading to a supported judgement/judgements
being made; Displays a balanced evaluation, demonstrating an awareness of competing
arguments, leading to conclusions; Demonstrates the use of logical reasoning, clarity
and appropriate specialist technical language.



Individual questions

Q1(a)

Learners who correctly identified 2 unpredictable life events scored full marks. Although
learners did not need to provide an extensive description of the life event as this was
superfluous to the requirements of the question. Brevity in the shorter format
questions is an effective time management technique which is frequently seen in the
most successful learners’ responses.

This response gained 1 mark.
A common mistake, as the learner repeated the stem with a reference to bereavement.

Anserer ALL guesticns. Write your answers imn the sp e ]
—
Fatricia is 20 years old. She has a owea-wear-cid dawgbhaer calbedd o
Patricia has recamnthy separated from her lonog-terrm Baosfriemnd and has decicded
o rrowee ot of the flat she shared with him. Paoricia has decided o live weith
ver gramcdmeoriver, Beatrice.,
Beatrice is 78 years old and has been wildowed shnvce her husband, Derseik, disd
art the age of 55
a Lal FPrematowces dearkh cam be an unpredictablie e ewvesmi
I Nty twno othesr e swvemnts that can be unpredictabie.
1=1
1 N A e e TR lE=

This resonse gained 2 marks.
The answer is short but meets the requirements of the command verb ‘Identify.’

1 (a) Premature death can be an unpredictable life event.
Identify two other life events that can be unpredictable. 0)
(2)
1 Redundanc t_j

2 ‘:.‘?\a_\\;u(!_ﬂ_.



Q1(b)

A common mistake was the inclusion of innaccurate age ranges or the complete
omission of the age ranges, as requested in the question, which led to the learner

scoring 0 marks.
This response gained 0 marks.

The learner does not include the correct age ranges

(b) Beatrice is in the life stage of later adulthood.

Identify four life stages Beatrice has already passed through.

You must include the correct age range for each life stage.
(4)
1 Hefemen. COrly. Chin OO (Z. = e R B
2 AdOlescenss. . . . B2 . ..1..1..:....1.9] ...............................................................
ey Akt hoodd . 19 s
MTAdLle. aduoithoosd . =4S B

This response gained 4 marks.
The learner has correctly identified 4 life stages with the correct age ranges.

(b) Beatrice is in the life stage of later adulthood.

Identify four life stages Beatrice has already passed through.

You must include the correct age range for each life stage.
(4)

ey 0% B




Q1(c)

A well answered question with most learners demonstrating clear knowledge and

understanding of this area.
Candidiates who dropped marks on this question generally did not explain both factors
or produced a one sided answer.

This response gained 4 marks.
A concise but accurate answer that scores full marks.

"-/'-AU o ol
Explain the difference between growth and deveiopment./

- v
o e F
P a
(4)

a i Ch A frnen sy o - a_r ok S e Con Siste~d | “This e oJnS

This response gained 1 mark.
Atypical example of an answer which does not fully engage with the requirements of

the question

Growtn 1S wne CNONge. N Size  of
MOSAleSd Sizeusith _ ane oAy,
wheeas  Deutlopment 1S +we. 1oy
g paay - onanged & adaprs
Fa@gn AL



Q1(d)

A well answered question with most learners demonstrating clear knowledge and
understanding of this area. The learners who did less well did not demonstrate full
understanding of the requirements of the question and subsequently did not describe
the differences as demanded by the question.

This response gained 4 marks.
4 marks are provided for both of the answers above as they are concise but accurate

answers.

(d) Describe the @iffIEREFbetween fine motor skills and gross motor skills. 4
(4)

Fine. mMotor..SilLa. uses the dmaller. muscled. tor. dmall movement
and helding a fen or penerl

in.. e hu,cln g hand .8[,1‘.Ppl‘nd}' This 18 .more. . sophiscated. ang.

LEGUALES.. S practicl ook 8. Qevelopecl later. an:. However,...

qross.. molor. . skalls. . vses the L rQc museles.. ‘Q""‘]‘“'ﬁ"'“‘

movement.. dxovnd. the.. hodﬂ..,. pALl m.\.,:] Jor. . mobil 18 N

Crowl 0. Gl Lunfing. Toas.as..develeped. tiest  ancl cequiCes.

eSS practe ce. ancl 5. . 1295 . Scphiscated..

This response gained 1 mark.
The learner does not fully engage with the requirements of the question.

Twe diefererce pbetween fine moattr il ore tie ogic s o Chld farsk

Leans. . Sach. S PCKNG. AP Gvoll Ooects Cv exen PICKNg g O pen
Wneieos o8 o Chld develop SO do their £k motor GOllS ek 1S

Pron veploced Wik yor gress metor Filk s 16 whe@ o Onild Wl

ftagh hand e, coodiaticn ek
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Q1(e)

Afew learners focused on social factors or intellectual factors without linking these to
self -concept, or provided extensive definitions of self-concept that were not required.

The stronger learner provided a focused answer that is clearly related throughout to the

requirements of the question, and the command verb ‘discuss,’ the stronger answers
were supported by a range of relevant examples.

This response gained 4 marks.
This response lacks the level of detail and range of examples required for full marks.
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This response gained 5 marks.
A stronger response that sticks more closely to the requirements of the question

(o) Patricia loeft her sikth form carly and did not compilete her BTEC Health and Social
Carwe cowrse.

As Beatrs has offered 10 ook after Joy and take her 10 playgroup. Patricia has
now decided 1o return 1o college and complete her education.

Explain the impact on Patricia’s self-concept of returning to exdbucation.

(o>
WM 10 AN CTAAO CHRALADR InCArne Ca

Q':)Suh\ce LONPELALA o Fosoncao’s | SEAE “CSkeo . CAS
- Snwe nmuarut‘ £f€9 A Shne 15,_-.bwm.xv.\c§ Nne 2 AL,
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PO woCYOaay - SO oo upCS‘G\.jLMEJLAG.Aéhx_.
AaAA 092 CUCe TO QOSS. ON DOne WOAAAR. €f -
€U0 fonean  OffR © @eANUNG INex  QUOLFTCRIO e .
SV O Gt)rw Y AMoA ,  POSoriCa o oAy fecy
Fones’  SOUOTATS mOrtC TES. LWOAN 2R I2eNAreo
NG _onch VB pmas cloh, m&b\xd\du Sl ou
Sur\%uz_ ¢ RoSUNg NN s (‘r\% INOAAE. Cn
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ft,c/\ ,Juq_cs-f_ﬂ buy OnE CDNesd - TINAS CCAAMCl STop!
Suney  Ounoh lehvex  Inca SRAE - CStefn
e.hr, CAr e CANTANAAL  UADN Ol .
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Q1(f)

Most learners appeared to be familiar with the theoretical background of the question,
but the less strong learners focused on the impact of inadequate bonding in the early
stages of development and did not extend this evaluation to the impact on emotional
and social development in adolescence or adulthood.

In the less strong responses, frequently, despite the answer’s length and the inclusion of
some specialist terminology, the answers demonstrated limited understanding of the
theories or the application/discussion of these theories in relation to the scenario.

Q1f: Evaluate the impact of effective bonding on an individual's emotional and social
development. Refer to relevant theories in your answer.

This response gained 7 marks.

A good example of a response that demonstrates clear evaluation of the impact of
bonding on an individual's emotional and social development, with a range of examples

“An effective bond is crucial for an infant and their primary caregiver who is usually their
mother. Without effective bonding the individual’'s emotional and social development is likely
to suffer. They may grow up to have trust and anger issues due to the feeling of not having
that bond and support as a younger child. Bowlby's theory of attachment is used frequently
where he suggests that a strong and emotive bond is crucial for an infant and mother and
without it they will not develop successfully later on in life and will struggle. Alongside this is
schaller and Emersons proposed theory of the stages of attachment. They believe an infant
will create more attachments as they grow older. Firstly being their primary care giver then
their secondary caregiver and then will become able to form attachments to others. For
example, Joy is likely to have her strongest bond with her mum being her primary caregiver
and then will then become attached to both her father and grandmother.

Many things can prevent a strong attachment being carried at birth. For example adoption,
disability or emotional disengagement or the parent which could stop that bond. These are
all example of privation where a strong emotional bond has not been created so will have a
likely negative effect on the baby later i.e. like it may leave them feeling isolated and
depressed which affects their emotional development and may also prevent them from
having strong social bonds with friends for example meaning they have lack of social support
due to their trust issues. However, if a baby/infant creates a good strong bond then they will
be secure and sage and will last with them improving their emotional and social
development from infancy to throughout their life.”

13



This response gained 4 marks.
Whilst this response has some accurate knowledge and understanding it fails to

evaluate this information to an extent that enables it to move from Level 1(1-3 marks) to

the bottom of Level 2 (4-6 marks) in the Mark Scheme.

Jonn loowuz\/ ~aAtacnnivite *meon/.

(f) Now that Patricia (Joy’s mother) is going to college, Joy spends more time at
playgroup, or being looked after by her great-grandmother or family friends.

Evaluate the impact of effective bonding on an individual’s emotional and social
development. Refer to relevant theories in your answer.
—— a0 4

,,..).ohn_.....B.awlsz\/,...‘....s}..udi.eol..., into.  children. atachmen...... .
and_vsed ks oun \ife exriances toa- come to

.A.g..Qn_.c,.Luﬂ.ion,.,....ﬁe....,...‘.c..g,mg._m..u?‘.A...Aw 3. Yhe attachment .. _'}h.e.cm)l.

wo&ﬂachmm-k-\hqory is.. O&H-:\\'n.\‘.% ..... hoow when. ...
ch\\dmnore.:e(nreo/wedfmm'}-helrwxmw\/
~care giver. Now. that effects aVNachment. ... .
“&N\% bonﬂQCHMPn{’fmmphlmW\/ Lore. 6\1/2(' and
iz B o(,uleslboa.,a%od-canhwe Q\husi?. impoc
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Q2(a)
Interpreting data from graphs has troubled some learners previously, but this was a
well answered question with most learners scoring full marks.

This response gained 1 mark.
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This response gained 2 marks.
The information is presented in a different format in this response, but still scores 2
marks.
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Q2(b)

In this question, many learners focused on the impact of socialisation and peer groups

rather than factors such as family income/social class. The less strong responses
frequently provided only one valid example and therefore failed to meet the demands
of the question’s command verb ‘To what extent'.

This response gained 2 marks.
2 marks are provided as only one valid example is provided.

(B} To what extent can social factors impact on an individual’s diet?
(4)

Decsel BesbmoR. 220k, 2. QRIS Bxb R I Aen . Boiene s
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This response gained 4 marks.
Clear and thorough answer that was typical of the reponse of stronger learners.

(b To what extent can social fa;::tm's imvpact on an individual’s diet?
(L]
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Q2(c)

The less strong learners frequently focused on genetic conditions e.g. Downs Syndrome
rather than genetic diseases such as Cystic Fibrosis or described one disease (brittle
bone disease) and one condition.

This response gained 2 marks.
This answer only provided one example so only 2 marks are provided.

(c) Describe two genetic diseases that may impact on an individual’s development.
(E))]

PRUL Qe Q. Child].. lfﬂm/ﬂa D!fllflﬂpmfﬂf Q..

This response gained 4 marks.
Afull answer has been provided by the learner which meets the requirement to receive
full marks.

() Describe two genetic diseases that may impact on an individual’s development.
(4]
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Q2(d)

This question was often misconstrued by learners, who - with the exception of the
strongest learners- did not explicitly tackle this question in relation to the nature versus
nurture debate (as expected) and these responses primarily produced one-sided
answers solely focussed on genetic factors.

It may be worthwhile for some students to revisit the need to produce a balanced
answer in relation to the To what extent’ question stem. An increased awareness of the
command verb may aid the construction of an appropriate response.

This response gained 4 marks.
The learner has provided a reasonable answer, but an answer that is one sided, and
therefore fails to reach the top end of Level 2.
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This response gained 2 marks.
A reasonable response which demonstrates isolated knowledge and understanding and
is placed at the top end of Level 1.

(d) To what extent do genetic factors determine health and wellbeing?

(10)
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This response gained 8 marks.
A nicely balanced argument that clearly shows evidence of interrelationships and a
concise evaluation that places the learner in Level 3.

) To what extent o genetic factors determine health and wellbeling? -8
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Q2(e)

In question 2e many learners drew correct links to disengagement and activity theory in

their responses, although learners frequently failed to explore these theories in the

depth required to access the highest marks/levels.

This response gained 1 mark.

1 mark is provided for identification of a correct theory and an allusion to the

importance of social interaction.

—
| Beawrice misses Derek and, since she retired frem her jok as a teaching assistant in a
primary school, has not socialised with many other people.

| Howewer, since she has started to look after her great-granddaughter, Jov, she has
begun to meet people and develop new interests and has now started to attend

L local arts and crafts clubs.

(e) Evaluate the importance of sacial interaction in later adulthood for individual
health and wellbeing. Refer to relevant theories in your answer.

(10}
DISEJ\%DB!‘ZFYTE et N f‘ﬁamr:j_;, B =5 NP — i = J— TR 3 . =
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This response gained 5 marks.
A good Level 2 response which lacks the awareness of competing arguments required

to reach Level 3.

(e) Evaluate the importance of social interaction in later adulthood for individual
health and wellbeing. Refer to relevant theories in your answer. I:
(10)
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Q3(a)

The overwhelming majority of students recording a reasonable response although
there was some repetition e.g. Inability to buy books to help with reading and inability
to buy toys to help reading. There were some excellent responses that focussed on the
positive aspects e.g. Parent and child improvising activities (with examples) in the
absence of opportunities to buy resources.

This response receive 1 mark.

3 (a) To what extent might Patricia earning less money impact on Joy's intellectual
development?

(4) —
SHe.may..not..be. .able. CO.QFFQLA. L0 PGY. FOL. LOYJ gnd..... .
bookS that 04 .may.need. She.alro.may be..uaabif. €0 Fuld. ..
£0r. . LAuCationol. . neCed.. re=tihay— Thil. NGl Mmean thak.....
Joy..moy...develop.. pel LLUL JIOU..............

This response gained 4 marks.
This is an excellent answer with 2 clear examples.

3 (a) To what extent might Patricia earning less money impact on Joy's intellectual
development?

(I —
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Q3(b)

Overall this question was reasonably well answered with a clear distinction evident
between the answers of the students who were familiar with the concepts who
frequently scored full marks and those who were completely unfamiliar with the correct
concepts scored 0 marks.

This response gained 0 marks.

(D} Jow will pass Ihuough several stages of play as she develops through infancy ard
cariy childihood.

Expiain the three stages of play that Joy will pass throuagh. p
(S

v Sensorincotor. This play »s Dhan  children wvse HKeir
Serszs Ao xpyore PR enavireartent  arcond HKens.
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This response gained 6 marks.
A clear answer that was typical of the stronger learners.

(b) Joy will pass through several stages of play as she develops through infancy and
early childhood.

Explain the three stages of play that Joy will pass through.
{6

, Porallel play 2-3 yems s will play.
~adong Sacke. MW\WWDLWRS;I%
Yod v oackhens. \5%&]&«3 \obc;lc:s bl v
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Q3(c)

In question 3¢, many learners correctly identified elements of Chomsky’s theory (e.g.
Language Acquisition Device) but failed to develop their evaluation of this theory, or to
evaluate other factors (e.g. Social environment,) that may also impact this process.

This response gained 3 marks.
Whilst the learner has provided a reasonable answer it fails to demonstrate any more
than isolated knowledge and subsequently does not move beyond Level 1.

(c) Joy is now starting to speak clearly.

Chomsky believes that children are born with an inherited ability to learn any

_Tuman language.

Evaluate the factors that can influence language de development
)

e U&JJ'UV'DQ
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This response gained 5 marks.

A good answer with enough accurate knowledge and understanding to reach the
middle of Level 2. However, the response lacks the detailed evaluation of the theories
and the awareness of competing arguments and balanced evaluation, leading to
conclusions, required to reach Level 3.

() Joy is now starting to speak clearty.

Chomsky belleves that chificren are bom with an inherited ability 1o learn any
human Banguage.

Evaluate the factors that can Influence language development.
— (o S
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This response gained 3 marks.
Again the answer fails to demonstrate any more than isolated knowledge and
subsequently does not move beyond the top of Level 1.

() Joy is now starting to speak clearty.

Chomsky belleves that children are born with an Inherited abilty 10 learn any
human Bnguage.

Evaluate the factors that can Influence language development.
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This response gained 6 marks.
A good answer with enough logical reasoning to reach the top of Level 2.

{cl Joy is now starting to speak clearly.

Chomsky believes that childsen are born with an inhented ability to leam any
human bngeage.

Evaluate the faciors that can influence language development
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Q3d

In question 3d most learners were in more familiar territory, and many learners opted
to approach this question utilising a ‘PIES" approach, with the stronger learners
providing a balanced argument with clarity and evaluation throughout.

This response gained 3 marks.
Top end of Level 1 is seen in this response, as it demonstrates isolated knowledge but
with little evidence of the application of this knowledge.

Beatrice, loy's great-grandmothers, mow looks after boy five dawys a weeseke
Evalbuate tihe imrmypact o
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This response gained 5 marks.
A good answer with enough accurate knowledge and understanding to reach the
middle of Level 2, but lacking the level of evaluation required for Level 3.

(d} Patricia has now completed her studies and has picked up some extra work shifts
in the restaurant whilst she waits to go to university.

Beatrice, loy's great-grandmother, now looks after Joy five days a week.

Evaluate the impact on Beatrice's health and wellbeing of looking after Joy. —
(10)
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Summary

e Use the number of marks and space available as a general guide to the depth of
response required, although the length of the response is far less important
than the quality and accuracy of the response. Brevity and accuracy are
especially important in the responses to the ‘Identify’ questions where extended
discussion/description is not required for full marks.

e Be precise in your responses. If self-concept is solely asked for in the question,
do not mention any other developmental aspects e.g. Physical or intellectual
unless they relevant to the development of self-concept.

e The overall structure of the learner’s response should be based on the
command word in the question, e.g. Identify does not require any expansion of
a point (several learners provided extensive information that was not required
for ‘identify’ questions) but explain will. To what extent, evaluate and assess are
command verbs that will always require a balanced argument to gain higher
marks.

e Repeating the stem of the question will not gain any marks. The question
scenario is there to enable you to demonstrate your ability to apply your
knowledge and understanding to the scenario.

e Use appropriate theorists when required, and compare and contrast these
theorists to expand the evaluation aspects of the response; however, the
theories must be linked directly to the scenario under discussion. Even a
detailed explanation of a theory without accurate application or links to the
scenario will not gain marks.
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